Line Intersections

Find the intersection of the following lines.
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y=3r—2and y=—x +4. (@) =(3,3)
.y=-br+landy=2z—3. (z9) = (2,-1)
Ly = %:L’ and y =z + 5. (z,) = (—10, —5)

,y:%$+%andy:x—2. ‘@*y):(*%’*%)‘
. y:—%m andy:—%x+i. (z,9) = (=3, 3)
.y=axr+bandy=zx—c. (z,y) = (2te, btac

y=03z+02and y=x—1.4.
. y = — 2 and the line that passes through (1,1) and (—1,2).
Ly = %:L’ + 1 and the line that passes through (%,O) and (1, —%). m
Yy = —%x — % and the line that passes through (—%, %) and (—%, %) (@) = (-3, )
The line that passes through (1,5) and (3,7), and the line that passes through (2, —5)
and (—3,5). (@y) = (-3, 1
The line that passes through (4,1) and (6,2), and the line that passes through (—1, —2)
and (3,10). @y =(-%-D
The line that passes through (%, %) and (%, 1—31), and the line that passes through (—1,1)
and (3, —3). (9= (-4.3
The line that passes through (1, —%) and (3, —13), and the line that passes through (4, 5)
and (%, 12). [en=-c2.-4
The line that passes through (1, ;—g) and (—1, —55), and the line that passes through (%, 55)
and (1)
The line that passes through (%, —1) and (-1, 1), and the line that passes through (%, ~3)

and (=1, ). (@ =4 -]
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